Proofs wivhe CPCTC Nans

‘Fill in the missing information in each proof, @ Given: £ZMNP=2£0PN, and MN=0F
Given: GH=KL, 26=£K, and GI=K] 0

N
\ % M
Prove: MP=NO
Prove: HI=DJ Statements Reasons
1. 1. Given
Statements | Reasons 2 MN=0P 2
;' GH=KL ; g;"en 3. NF=NP 3,
g -aven 4, AMNP=AOPN | 4.
3. Gl=KI 3. 5 5. CPCTC
4, _ 4, SAS ) '
5. Hi=I] 5.
Given: ST=VU
T
U
S
Vv
Prove: £S8VT=,UTV Prove: £B=/£D
Statements | Reasons Statements Reasons
1. 1. Given 1. 1 1.
2. 2. Reflexive Property 2, _ 2. Given -
3. 3.HL 3. LACB=£DCE 3.
4, £SVT=,UTV 4, - " 4. AABC=AE()C | 4.
: " BrzB=sD 5

Given: GH||T, 1is the
GH=JT

midpoint of HK and

@Given: MP=NP MNLOP

M
0 P
H > K N / |

Prove: £G=4] ‘
Statements Reasons Prove: MO=0N
1. GH||JT 1. Statements Reasons
2.1is the midpoint of HK | 2. | _ '
3. 3. Given - 1. 1. Given
4. HI=IK 4. 2.MN.LOP 2, -
5 5. Corresponding 3. OP=0P. 3,
6. 6. 5AS “ 4, AMOP=ANOP 4.
7. 2G=2]) 7, 5. 5.
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@ Given: SU=VT

S

Prove: ST=UV

Statements | Reasons
1.S0=VT 1.

2. 2.

3. 3.HL

4. 4. CPCTC

Given: GH}|l}, zH=,] and GH=I]

Prove: £GIH=£IK]

Statements Reasons

1. _ 1. Given

2. £H=2] 2. ,
3, 3. .

4, 4, Corvn it 10y :
- 2 Lorengond Ao
6. 6. CPCTC ‘

Given: ST||WV, and ST=TW

S

T

Prove: SU=,WU

Statements Reasons

1. 1. Given

2 2. Given ,

3 3. Alternate Interior

4, £SUT= WUV
5.
6.

4

| 5. a8

6.

A

B

Prove; AC=EC

@ Given: AB||DE, AE bisects BD

D

Statements Reasons

1. 1.

2. 2. Given

3. £ABC= £EDC 3.

4, £ACB= £DCE 4,

5. 5. Def of Bisect
6. AABC=AEDC 6.

7. 7

M

/A Glven: PM|INOG, MNI.I PO,
B f

: : 0.
. Prove: PM=0ON . .
- Statements Reasons
1. PM||ON 1.
2. 2. Given
3. ZPMO=zNOM |3.

4, Alternate Interior
5

6. AsA.

Prove: £A=2DCE

Statements Reasons

1.AB=(D 1.

2.BC=DE 2. ,
3 : 3. Given
4, 4. :
5. 5.



rite a two column proof for each. @ Given: ZNz=£P, £M=£Q, and MO=QR
| Given: GH=JK HI=KL,andIG=I] . N P

H K

Prove: 20=4R

Prove: 21=2L

@ Given: 2U= 2V, 2T=2W, and TU=VW

T v X

Prove: £5=+2X% Prove; BC=F

“ Given: GH=]T, 2GH]=£IJH o
| §._Given: MN=N0, MP=0P

G H
M
I I 0
Prove: GJ=H1

Prove: £0z=sM



| [a (Given: TU=WU, 2T=2W LZ/CU e e B
\4

B D

=l

Prove: TS=WV Prove: AC=

@ Given: HG||]T, GI={K, and 2£HIG= £]KI @ Given: MN=PF0, MP=NO

H I ' . M N

Prove: 2{=2] .. Prove: £M=40

/% _Given: TS||VW, TU=WU

S V -
_ A
w

Prove: To=VW Prove; BC=AD .





